EEASE ~ RS

o
AVENTICS 1

WEISET, 1SO 6432, Z3% MNI
~ ©10-25 mm ~ EDO: M5- G 1/8 = MIEAR ~ HHMEE ~ Sib: 34 ~ BHEN ~ ERXORRES ~ FEF: 5

$BLL ~ ATEX SRk

00106379

BA&E

B RN ENRE TG

EHESERR

TEENERE

NERE s/ME/EKE
BREBRSNREE

R

L A/ max.
EHRZESPHEHE
BERERNNES

wk:

SHEF

EEF

HE

AR

=53

=i

SHEINR R

AT EETSHRIZE
B

ENBRSPREMETIMEMANFLEE5 °C, FELF MRSEEHN 3 °C,
ERZ=SHHS BELAEEMERSHHRIFAE,
ARERZT AVENTICS R RIFATHH, S0 “BRAERETHHNE.

BIFATEXINERISELATAE T AVENTICS $E&EHul 318
ATEX#RIR : 112G ¢ IIB T4 11 2D ¢ IP65 T125°C X
ATEX MESHE HERIBESEER -20 °C E +50 °C,

PISREL

1 bar /10 bar
-25°C/ +80°C
-25°C/ +80°C
ER=ES

50 ym

0 mg/m?3 - 5 mg/m3
6,3 bar

TER

TER

Hifl, At

SAM, PRARSELILALIE
SAM, PRARSELILALIE
R R
i, EH

W, E

REB

HEIEHHTEEN IN] 42 53 109 166 260
HHIEHHEEN [N] 49 71 127 198 309
RIEREE Y] 0,04 0,07 0,14 0,23 0,35
£ 0 mm{Ti2 [kal 0,042 0,073 0,091 0,149 0,249
10mm{Ti2 [ka] 0,0024 0,0046 0,0055 0,009 0,013
RKITIE [mm] 800 1100 1300 250 600
MAEFIRIRNMRES NMERN O CERRIRER, FAERIERMY %
SHER-BF, ELPDF, $IETF 2014-06-12, © AVENTICS S.ar.l., {REEXANF Rexroth

Pneumatics




o
2 AVENTICS
FEATL ~ FASE

HEISET, 1ISO 6432, %% MNI

=~ @10-25mm ~ $#0: M5- G 1/8 = REAR ~ HHMEE ~ Zrb: it ~ BN -~ KREXPHRRRYE - EEF: 5

B4 ~ ATEX ik
HE-0 25
TEEEFF-ARLL M10x1,25
0O
HER-0
SERIMERIRLL M12x1,25 M16x1,5
1712 10 0822330201 0822331201 0822332201 0822333201 0822334201
25 0822330202 0822331202 0822332202 0822333202 0822334202
50 0822330203 0822331203 0822332203 0822333203 0822334203
80 0822330204 0822331204 0822332204 0822333204 0822334204
100 0822330205 0822331205 0822332205 0822333205 0822334205
[ :::I 125 - 0822331206 0822332206 0822333206 0822334206
| | 160 - 0822331207 0822332207 0822333207 0822334207
200 - 0822332208 0822333208 0822334208
250 - - 0822333209 0822334209
320 - - 0822333210 0822334210
400 - - - 0822334211
500 - - 0822334212
HAb I ATLLEE AVENTICS $& 03K EY
HE
PB+S VA
M1 M2
SwW2
i EE
|
KY KW EE
== =
ww s B W [ "
w N [24] + W 1 TTe= - ~~— — e
X — —_— [
N4 = -
< = .
AM BF L min.
WF
XC+S
ZN+S
00106425_d
S =171

10 12| Mi12x1,25 11 4 14 M5 t=5 8 M4 17 5 7 22
12 16 M16x1,5 16 6 19 M5 t=5 12 M6 22 6 10 3,2
16 16 M16x1,5 16 6 19 M5 t=5 12 M6 22 6 10 3.2
20 20 M22x1,5 18 8 28| G1/8t=8 16 M8 30 7 13 4
25 22 M22x1,5 21 8 28| G1/8t=8 16| M10x1,25 30 7 17 6
MM {8 M1/M2
10 6 4 48 12 47 11 16 74 83,5 13 3
12 8 6 48 16 41 16 22 75 88,5 19 5
16 8 6 48 16 47 17 22 82 95,5 19 5
20 12 8 7 18 51 19 24 95 109,5 28 6
25 12 10 7 19 55 21 28 104 119,5 28 8
t BELUREE
HAEFIMRR M RES MER M PO EERRITER, FHRERELEYE
Rexroth SHrER-BF, &ELPDF, $IETF 2014-06-12, © AVENTICS S.ar.l., REEHAH

Pneumatics



	&#24494;&#22411;&#27668;&#32568;, ISO 6432&#65292; &#31995;&#21015; MNI

